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QUESTION 1

A retailer currently has two redundant ClearPass C2000 0L36O Gen9 hardware appliances and two perpetual 1K
Access licenses. The customer uses ClearPass to authenticate employee wireless devices and other corporate wireless
devices. ClearPass togs indicate that, peak license usage is currently 1900. 

The customer now wants to add a guest access solution. Guests will connect to an open SSiD and be redirected to a
portal which they can use to self-register and log in. The customer anticipates that up to f 550 guest devices will connect
at the same time. 

The customer requires the most cost-effective solution that will meet the requirements. What should the network
architect recommend for this solution? 

A. IK + 500 Access licenses: IK + 500 Guest licenses 

B. 1K + 500 Access licenses; Two 1K Onboard licenses 

C. 1K + 500 Access licenses 

D. Two 1K Guest licenses 

Correct Answer: D 

 

QUESTION 2

Which scenario Indicates the need for a wireless mesh? 

A. A nsstorical building has some wired areas and a few areas with no wired or wireless connectivity, walls and ceilings
have asbestos. The company needs wireless access across the site. 

B. A hospital needs to provide high availability for wireless services in certain areas which support very critical wireless
medical devices. Devices must always be in range of at least two APs. 

C. A company has a small branch office with just one RAP. The company has noticed that performance is poor in some
areas of the network and wants to add another AP. 

D. A company needs to provide seamless roaming and wireless access between two buildings. The buildings are about
60 feet (18 m)apart. 

Correct Answer: D 

 

 

QUESTION 3

Refer to the exhibit. 
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A customer needs to create a proposal for a full wireless solution for a customer The customer has indicated that the
MCs will connect to Aruanda CX Switches at the core and the APs will connect to PoE-i- switches at the edge. The
customer requires that the wireless solution support at least 50 Mbps concurrently per AP. The architect has created a
BOM tor a Mobility Master (MM), two MC 721os, and 400 AP-535S. me exhibit snows this BOM. 

Which components has the architect forgotten? 

A. SFP+ transceivers tor the MC connections 

B. Smart Rate PoE+ injectors for the APs 

C. Mounting Kits tor the MOs and MM 

D. Sufficient Enterprise licenses for the APs on both MCs 

Correct Answer: C 

 

QUESTION 4

Refer to exhibit. 

A customer has a building that needs a switch upgrade. The customer would like at least 20Gbps for the uplink
bandwidth out of each closet. The building wiring plan is shown in Exhibit i. The customer will not consider any cabling
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upgrades at this point. The current proposal is shown in Exhibit 2. 

Which correction must the architect make to the proposal to meet the customer requirements? 

A. Add an aggregation layer, and connect wiring closet switches to the aggregation layer on Smart Rate pons. 

B. Add a mode conditioning cable for each link between the wiring closet switches and the network core. 

C. Change the SR transceivers tor each link between the wiring closet switches and me network core to LRM
transceivers 

D. Add an aggregation layer, and connect wiring closet switches to the aggregation layer with SFP+- SR transceivers 

Correct Answer: B 

 

QUESTION 5

Refer to the exhibit. 

A customer needs to support resilient wireless services 
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What is one way that this design helps to minimize me impact of a railed access layer switch on these services? 

A. The switches support Smart Rate and dual home AP connections. 

B. The 8400s and G405s use Virtual Switching Extension (VSX) in cone and access. 

C. Each access layer switch has two redundant links to the core. 

D. APS in the same area connect to different switches. 

Correct Answer: A 
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